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QUESTION 1

Which two attributes can you use to group shipment lines into a single shipment? (Choose two.) 

A. Carrier 

B. FOB 

C. Item 

D. Sales Order 

E. Ship-to location 

Correct Answer: BE 

A shipment comprises a set of shipment lines, grouped by certain common shipping attributes, that are scheduled to be
shipped to a customer\\'s ship-to location on a specific date and time. You can include items from different sales orders
in a shipment. You can either manually or automatically group shipment lines to create a shipment. The shipment lines
are grouped by the mandatory default criteria: ship-from location and ship-to location. However, you may also include
additional grouping criteria, such as customer, freight terms, FOB (Free on board), and shipping method. 

 

QUESTION 2

Which two statements are true about the functional capabilities of Oracle Cloud Configurator? (Choose two.) 

A. For users who do not have access to Oracle Fusion Product Hub, Oracle provides an alternative option to create
models directly in the workspace area. 

B. Only the optional structure and attributes of a Product Item are imported from Product Hub to Configurator and not
the mandatory elements because they cannot be configured by an end user. 

C. Multiple drafts of the same model can be modified at the same time, but they must be in different workspaces. 

D. The user interface pages are tightly connected to the model. You cannot add, delete, or reorder pages without
affecting the model structure. 

Correct Answer: BC 

"Configurator models are imported from items maintained in Oracle Fusion Product Hub (which is accessed by the
Product Information Management work area) that have a Structure Type of Model. Only the optional structure and
attributes of the product item are imported, because the required elements of the product item cannot be configured by
an end user. The option classes and optional standard items for each model item are also imported." "Configurator
models are versioned objects. A model can go through multiple drafts before being released in a series of versions.
There can be multiple drafts of the same model being modified at the same time, but they must be in different
workspaces. A message notifies you if you add a model to a workspace when another draft exists in another workspace.
There can only be a single released version of a model with the same effective start date." 

 

QUESTION 3

You are revising a sales order by manually scheduling the following fulfillment line and splitting it. Which three order
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attributes can be updated for the split line? (Choose three.) 

A. Fulfillment Line shipment method 

B. Fulfillment Line warehouse 

C. Fulfillment Line scheduled ship date 

D. Fulfillment Line unit selling price 

E. Fulfillment Line quantity 

Correct Answer: ABE 

 

QUESTION 4

Which four options apply to the "Lead Time" mode? (Choose four.) 

A. Lead time can be specified in multiple ways. 

B. The item is promised on the requested date irrespective of availability. 

C. Calendars and transit time constraints are respected. 

D. No supply availability search is performed. 

E. The order promising engine does not generate any pegging. 

Correct Answer: ACDE 

 

 

QUESTION 5

Your company is in the business of selling kitchen appliances. 

Which three entities can you include while defining pricing rules that control how Oracle Pricing Cloud calculates the
price for each time? (Choose three.) 

A. Shipping change lists 

B. Discount List 

C. Pricing Profile 

D. Pricing Strategy 
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E. Cost List 

Correct Answer: ABE 

 

1Z0-1077-22 PDF Dumps 1Z0-1077-22 VCE Dumps 1Z0-1077-22 Braindumps

Powered by TCPDF (www.tcpdf.org)

1Z0-1077-22 PDF Dumps | 1Z0-1077-22 VCE Dumps | 1Z0-1077-22 Braindumps                                4 / 4

https://www.pass4itsure.com/1z0-1077-22.html
https://www.pass4itsure.com/1z0-1077-22.html
https://www.pass4itsure.com/1z0-1077-22.html
http://www.tcpdf.org
https://www.pass4itsure.com/1z0-1077-22.html
https://www.pass4itsure.com/1z0-1077-22.html
https://www.pass4itsure.com/1z0-1077-22.html

